Voo Jlo LI08 dlgo gl g Cblug oy (b )15 (y90 3T

21 3190 ulibirg o

Sl o9 Al piShg il 001gils <32 (i 0,5 Sli5 loms G ySL plas =)
S Lt ol (o w9 (z biw p (& MWgodlus (Al

TUUS (o0 (S 95 9 30l Wi (4L o 009 30 4S5y Slomyl gy G 4SL (2108 Cighe plus o Y
LIS 529 (!
SidsS 9580 b o (2
Fryawgise by (z
o By oy S (o

= 5 el Sl 903 5wy 3y 5l L3l ) o (1SS Wl oS CuitgS GLraiins g9y 2 S plas Y
faS (o0 (55w 9)
Agdginl wagnl, (Al
ol pgraals (o
P39, pisse s (z
ooa il oty (0

faub oo JUEGI i b ol (Bl O o @3 yb 51 (2108 Slig lems Sl plas ¥
osS reg) e Sl (A
blosle Ls (@
ey po pgpelis (7
oyl Dy 5 (o

faloly (03 O1,5 (Hlw a2 )0 YO 33 50wy 1 0B Ygoro (2108 gl o 8L plas =0
95 95 gkl (o b2l (2 FSLokesS (< MWgells (I

wa‘s.o JEG! (wiloas iy ua.el; yeba &5 G;{L.{)é ‘sg‘l.l\.é Sgo B pan (9 yb )l plen g SL plas  —F
Sl Sholoes (Ll
rPedgenlb o my (o
99l eSS shdlnl (2
Forgemgige by (0

Cablon 99290 S )0 uimiy B por oy yiuwlS (2102 (578l b plos Y

Corogomnn )3 i Lol Slons| Jgdumne (uixi 1 1 pa9 s yiowdS (gL o108 bawgd oo gl (S g3 g,0] = A
AR PPRRRY-
A,C ¢ B,E (= C,4B (v E A (&




Voo Jlo LI08 dlgo gl g Cblug oy (b )15 (y90 3T

00305 50 3500 (5 5L pIaS Lagi Bonas Jlansy )0 ol (5l 03U (5 pmnsti glood y3l 58 ol -4
LSl S sl (L
LSl Sy sl (o
o plsegogon (2
e I 5 logmshenl G

(50,5 0ubSis g plo 50 Sl ghigp olud 592 w90 Cowl (S Lo SL plas Y-
Halococcus (!
Xerophiles (o
Eutritium (¢
Acintobacter (s

Tl pb az ()10 Cawgd |y YU (g jounl HLESE Yaoro o108 Slgo jo a5 b oo =)
Halophiles (!
Xerophilic (o
Osmophilic (¢
Psychrophilic (s

Coguih o0 (US) Yooro Blo yo poidgig gy yudS jl i plus” Y
B ¢ F E (o A (&

fowl o310 59k (nl Glacebgl 51 Soplas s jor (S Ludy p0l O1570 HY udgyw Y
EHEC ¢ EAEC (¢ ETEC (o EPEC (|

51 S plaS il 0ud gy o Ol gixe daod g oo Hlxdil Hlos Slud 1 )0 oguo BT (Goimo Gadud Sy =¥
bl obud ol Jole wilgi oo 305 gloasy 35
bl ey e sSs (|
poSdlol porkw (b (o
oo )b (&
L i

§0 juS o0 4,8 ooliiwl 890 gl SUdo Sl 51 6 S el (gl U Ho Y goro 00i,lugSS plos —10
iy (3 leolsnsy (2 leolgry (¢ ool gm (A1

$gu o0 plxil (6 1L plus g (8l ol p 5 @3 yb 3l (Pl e Sl VP
Lyl PSS (z Bgegogm (& P SL as,S (Al

Tl oo 4 35 plas @y gy po (55,8 42 o8 OlxS g oYLw o oL Lol ol VY
omlog BlasSoy (0 luails” (z poolisd (< poaliw (&




3

Voo Jlo 208 3w Jwsl g cunlug oy (b )15 (y90 3T

Teawl 3 Jolae 31 ST plas ool ZMol pauodl (610 (guudionuny 5O 00l Gy A CaliaS HO juw Slud Jole VA

s s oUigagdges (I

=1 ligegdgm (o
OB Ll (2
el gy Mils s (0

Coulod posii ) 59y Coml 5018 g 0092 (6L (SLrguiliin ;89 30 <32 105 S wolawligisV 5l Saplas 14

o9l ogliwlsiSY (Al

w92 oskelsSY (o

S oskalbssY (2

o)l 455 55 (SS9 pds wsbemlssY (o

€015 0,015 (555 pIaS (9115065 kom Camols oy 1 (51 9BLLS AiSTg ygo3T =Y
LIS 9259 (A1
Sdsenll g (0
o] eSSkl (2
oS8l (g8 oS kbl (o

Tlmd aly 35 plaS a4y Loy po dwgS vz Caligs j0 olow sbrasd fole Y

onony el (z P92 y5g NS (o 1P 9o (A

Taudl oo BT L pus S g ;00 plas bawgd oguo ol e Slowwz gz ¥ dlgo adgs =YY
ooyl oskeslisSY ()
PR Sy See (2
Pyl ekenslisSY (2
S ye S ghgisSyl (o

fabl ool 40 35 plas’ Jolds (108 WY guammo (g S0 CodS’ 5 Lo s uuilS )l - TY
Al Al 09>y saskid BB lade 4y il 5,40 g;.’.‘;\'é Slga plas ,o (all
il Jypame St b Gt it bl SO glyls wub Ll slows g ul, (o
Bl Lawseis beweslS ) ol 3l gl 4l sl oylgin g 009 ool wub Lot b Lo g auseis (z
il asls Ll oy p shie 85U Wl o132 eole 09,5ue ,5l8 sl ple (o

Tabl oo (o sl (P uiig g SO (6 5SL ploS Comogoums Jole — TF
Pyl pordy yds” (Ll
o B pde S (@
oo skl (2
oedsioge poshesl (0

9,105 (503 Ceoglilo (2 louds S ) pluS 1 (gl gl (g o5 gledliw! VO

Ormlogts (o ls IS (7 a3l o (o oguz IS (I




Voo Jlo LI08 dlgo gl g Cblug oy (b )15 (y90 3T

fadloo (Jobw (39,9 913108 (gljs low 8L plas” - V7
Figimgiols i (]
5] eSSkl (o
oo ookl (2
FrAn el (0

£0)10 Lagg 5l Sy ol Cedled (59 (5l ST sl o yloj 30 99,10 0929 (ygi ) 30 S plaS YV
(Oleuropein) o g,55s! (1
(Menthol) Jsuwe (o
(Eugenol) Js=sl (z
(Thymol) Jeews (o

Sl 3950 34 93y Iy &5 (Sl pdl = Ll sl HBT il b (9 i Jgozo = YA
XLD (s VRBA (¢ CIN (v TCBS (.l

(o9 ond ddgf USG5l Syplas byl (g, - YA
Tows o leMS gy (L
LU LT (o
Pyl porbe (2 (2

w5 skl

03,10 Coonl 089 33 Hgpuwl 982 pulgigr 95 plas ;o ¥+
0 el i g ()
bl e (o
Sed i (2
JUbl pecdgig (o

2108 3lgo (SIS S ao!

Tewl yuds Joomo bl pl 50 logas i 0g0 plodl 5l o g5 clieS PH Y
4l6 (s 716 (z 5/6 (v 6/4 (&

O S0 Wygo (2od 4z 50 (Fuw) o 0 dilgx - TY
ol 3 gl az o+ 5l 5YL (]
ol )§ il a0 ¥ 5l 5YL (o
ol )§ sl a0 ¥ 51 3YL (z
oylai vgzg leo b blijl (o

g o0 (5SS (oo 4z 50 oud ozmie & o piF (slBod 9l 3 Y'Y
N B-0 WO (2 NP0 B -VY (o YU YA (I




3

Voo Jlo 208 3w Jwsl g cunlug oy (b )15 (y90 3T

flawl plas’ M5 50 olud olxy| b 5SU Jole —YF

P9 yggINS (o oy (z Lyl (& l%.)bf'ﬂ (!

sl (g gk a2 43 s SIS ) (g3l (Sl o (51 SiaziM O 4 Ly yS prouw (53,5 a8LSI - Y0
1o ol ogzs 5l (3l S5y et 5l 6 xS el (I
Oedeid S Sl g S el (o
Jyaze (S5 0lse b peandS oSl WloS 5 olnl (2
210 Jslme glagaling g Jsloms slge g5 5l canilas (0

f sl IS (65I0eS (b 33 390 Oy ogmo A8l (Fumwgy b 95Tl Jole - Y7
o logBLo (0 luails (z P92 9em g NS (& PR ygamwgelS (I

Tl G y0b 4y 35 oS’ 2 10E Slgo Slocwil uiaT,3 b alasly jo — YV
b oo ial38l slezsl Ce s dezmine Y Cuoles o133l L (]
il Sglite JalS canl San LT slamil s o i o0le 95 40 oaims oS szl ol 039 GlaSs e (0
DS o0 Dy FaS Ol JUT o)l 0925 19a b ()2 63b) Gl &5 (2l laptanw 0 (g
S0 (6,80 slezil e o @l o0le o Jaie ol Gl (o

] g 3330 oIS i 03lo (o3 yly> T B 1L alaly yo —¥A
D950 O 3l ©ogax U e Jolo slic olgl 5 aes cdl> (I
el Jolo Slge aome oS 5 g olge adl i e 4y d 0 (S ek (@
gy Cowd lolge 5,5 5 i anTE o ol 5l solj b e g el JlbL ol ol o eels (&
LS o) (glosed iy g oad iiSTy 0,lg Cansl ySae ald g T b b pibiwszi] (o

foddund ygo g JLd yoseo 9 S (655 09,5 duw y» o 5o 32 0lge jl Syplas’ ¥4

5,555 Sl g0 (o Sewl sl (z Sy Sl (@ Siga g Sl (Al
flammns ClgS 6l p LB ol 6,5l /N /Y 30 40 o, B 5l Lol Bun ¥

bome slod 3 (6,55 oy oo (59,5 SYsb (LI

LSl gonb (o

Jru )3 IS gl Do 5 SYsb (2

Silsr 2 2 SLyke ol (o

3,08 00l dezmie oole g (ol Cudlad e 4 Sws Ol slessl alass 5l 50l sl > 10 pasilS g ,Seo o, (1
3,00 658L g4 g 21ae oole g95 PH @  Siws o SL slezsl anl)d 31 (o

S5 o g g 609l 89y stz BB Sl olessl (o




3

Voo Jlo 208 3w Jwsl g cunlug oy (b )15 (y90 3T

(! pIUS ) 9 pausS g2 Jolaio ooliiwl 2590 S — FY
S5y ST &S, b 005,55051 SV (]
e SY (o
Sdd SY (2
Jeg 9 ipsdsl SY G

083 g0 L 1) (Fylyo 2l 8 (SoiS o il 33,1 (Sxin oS 1) b — FY
Oy rly 5o a8 20 L (i (]
obey plp Zvalue > (o
oley plp o Dvalue s> (z
okey plp o Fvalue e (o

fanl plas 1050 3T 98 oo &1 (0 () 6l oo 5L — FF
VB 1 3, o 5
Seygsl sl 385 3l (@
Jsloe dlse Gliee (2

ol ael sl lywe (o

fog0d oolaiwl YU (g lgimo b (2108 3150 (551055 gl sl (o83 1y (5 yommedl sBSE 51 Saplas’ — O
CO2 N2 (z 03 (w 02 (W

fably oo JuIo az a3 (6,105 awg (b jo yol )b ub py PP
Sy e (G
gy 4 (o
b adai (¢
S 8l Bl a4 sl S5a5 (o

Szt el (fSd w30 15 4 )le S b0 7y Sligol I (Gdd o (6, A0 w50 45 Fyg0y0 = FY
£ gu
Cavgs gaw ;o Slopls slaast | bl ol (I
Sl ol Cesgy 05T (> )0 Cagy 125 ) o5 CeligS ol gloged (o
A &l mab (ghls a5 S5 ol sloas g oo yim 50l (2
e S 0 0 loged (o

flaw! yosuzmm olod Jobw slmsl gl a5 0 pw 50 ol )l plas” J s —FA
Jyame pugaie sl S (L
i3 ) A sl (o
s b 355 (2
B )lgso 5l Lo jo 8, Cawsn 31 (0




3

Voo Jlo 208 3w Jwsl g cunlug oy (b )15 (y90 3T

Tl oo SQ S Lg M ué googao Wlasiio 3 4y 357 plus
S)lge el 1o o) Jee (g ia p (]
Clls 5l e ogae 8L g ST j0 il i (@

w‘o).s)‘uwowr@&‘a)owwﬁw (C
ool cdale & el ol g_;i’i-we‘s (>

Sl dlozuil BB Jlow yws by 8 lawgd (o132 o0l plas

ol Fyz CaligS (o ouls (gauaskad £ 6 (z oole! a2 (o s 39505 (]

(! plaS dozio (2188 Olgo 1515590 )0 duzmo (s Jlws )5 €95 (2 ¥ o0
oXigd Lul> (o oail ae23 (z s)kd (@ Oj9 e (A

Tl ol (o ddgi 5o ooliiwl 3,90 (Funo) comw (SIS Sl 12 @)l a0 plas
JEUT YO WIFESIR g (W]
gk a0 ¥ (o
gk 4500 (7
Oogads a0 VY (0

Sl oo BT yims yww 325 (10E Slgo 31 ST AT 40 53 38 Glod yo (5,1 (powd Judg IS o x5
s slogd (o oo 555 bl (z 2lanl Sy (o S 3455 (al

TS 0 (57505 (ol S 3lm] 9,130 s &y S SLsle S plaS

S Ol 0 mle (S wSl s (7 &b G390 (o VW og 8 (Al

Tl oo cawbio S5 (g od b @alo (2108 Slgo (40 55 dozxin Cugr (53 Lox] potaannn oIS
Jlws s b sla, 50,8 ()
Tl GlP lryng (o
e M bsl,nd (@
Spomle ;o 559 abse slayns (o

ol oo yioS gy 3w 4 o St 98l sl (il 0936 (210509 3T o9y plus” 5o
Elo Il oy 3l (&
Sl b @lmpl (@
M ool e b oleyl

eosule b almpl

fadl o0 cuwlo Sis (108 0lgo (10,5 oyl Cr ) WlaS 3 51 Suplas
el amST (o Clyy @z o Seisr 5T (o ol (A

Tasduwd ) 9)lg0 1 SUplaS ool 0010 890 (138 dlgw yo B b g yac ol | OLLS 5 (9 w0
S ST gs (0 Loy (& baysiS g laaaall (o sk Sles 5 (!

_f4

-0

-0

=Y

= oY

- O0f

SYAYA

- 0f

-0V

- 0A




3

Voo Jlo 208 3w Jwsl g cunlug oy (b )15 (y90 3T

sl 523 S 5 5 S2plaS S5 Sl 45,31 o s 51 1B S 15 (b o8 5y — 08
OeolS g Coo (A
Ol gee ST (o
Ol gee ST S0 (2

Omolee Loy

fascud SO S LS ) oo 3l Soplas — 7o
kS ,85l (z s (¢ o (A

06 Slgo (Son

Caide oo gt [y (2] a2 (pmoling plas — %Y
A by B2 luy (z D los (& C olog (Wl

T Cawl olai! M)f ,aMS RS Wa).».i Syg0 30 =FY

Sl i g5l uiSgp 4 aS Cewl LSy MPT S oy (A
SIS (o 4 a5 o) o) ol po s (2
S oo M Glaldl (JoSdan (339 (Crdy & O yg e Rod) Gy gl Jlad 0 (o

TS g0 Cadlad (ol (of cudled 4o 55 sy 3T 31 09,5 plas’ —$Y
lolsy by (z k) (o ESV I N

Sl (B g 5 ol sl W31 5 Gl cudigy 5l Syplas - #F

oS ¢ e elsbotsn @ O (& UG

80,415 b Az 1S dowo T o Jolono yud ks odidd oS youls  — 0
NG o1l (@ OB (o Cygls (Al

Sl ISy jf diwd plaS 32 Sy = FF
loassis, 5 (!
S olilie (o

oo sy (€
o sbwgs] (o

faw! o dy 35 plus Judg S 0590 o —FV
Sl og=gd gb L3l g9 90 Lags (I
ol D g Judg IS (e cp i (o
Ll 53 o3 gl b, (2
el b LIS bl s jo L3y IS (o




Voo Jlo LI08 dlgo gl g Cblug oy (b )15 (y90 3T

famn] GRS pao i Gausidd B Y 4 o az 51 (SubigS gl yT 13 ) sy g S Sod Gl oab —FA
PSS Y (A
PSS Y (@
PSS 0 pSF (g
PSS e S A G
Taiylo a5 oo 35T o sloged 50 05 s 3T 5l Syplas - 54
LS g (5 LY (¢ shaeast k8 b (o sk (I
AL S o o )] cdled g 0,lu Slae G alas j0 oni) S9 g0 Wl ylo) 40 45 Cawl ma T plas Ve
ogub o0
bed O fyesS (T Ored (& O (I
foulod (guomo 995 (39,8 30 1y )18 ljpab Slgo Wilgi (0 315 S i plas’ - VY
S0, ls 5SS (all
sl (o
958 (g
Jsmyge O

Cul o & groo oyl yaw 330 Jud 43 1S5 o 53 3 (GLBOAGS (39 ud 31 SGplas VY

T0gu o0 oolaiw! o132 Slgo y0 9 8,10 (Floyd ) Kb juf S)lan o) LSS g G:JT S SSplas VY

OSSLal 5 ST o el (z SOl lS (o Sl i3 (A
£0,15 g yinS ()l Gl (Sahan (LGl (T 5 Syplas V¥

THBP ¢ BHA (z BHT (o TBHQ (!
Caul o0 Comd & (oS 5 £ 99 4 5lunS T35 9l (0 35T L 35915 yud aunsST 51,0 — VO

ST sl (G

S99l dl (o

Sgl ol (2

KV IRVRVISCUN IEK GOSCH g SN 5 U R

5 gud o0 Sl | il 3 plaS a7 4y w8 aSWIT Jole (yusls Lol g o dunST 31 40— VF
Sg sl bl 5 Sigadl slaanl (ll
68 o ISUl g SsgalT slaal (o
Seigll slavsnl 5 Sisg sl sloosnl (2
ST laasnl § gl laaew! (o

fabl oo (ol Bun ylgicd 5)50 plas (15,5 JU alo yo 0 (WL g uwgmw ddgi )0 VY
LI g g S5y g (A1
ClgS ey oo)5 JWb (o
S 5 g o> Gl (2
CbgS olud slog T (j0 )8 Jad e (o




3

Voo Jlo 208 3w Jwsl g cunlug oy (b )15 (y90 3T

00,105 ;5T gl coingS y0 O (6l cud, b 50 Jole plas
pH (!
plo o (o

alae oupis Coxdee (7
OnslSgee o ol b (o

Sl ogun pIAS 13 395 g0 (i i b g T ATy €y i o8 D>
459l (o oS (z o (@ SN ,8 Dgs (A
el Jpglie &)l 4y coliag plas
E oeolig o C omlus (& D by (& A pelig (A
?O)‘s\.; »5323 ‘540).9 éo.o )baLw )é QB ‘b‘»\s
5ESYE (o Sl S5S5I5 (@ sely (2 55T ()
(a9 o0 o3 3l ouds gl ol (195 (6l s g A 3929 S 53 315 (Sl (5T S 5 plas
Sy s ol (o Se55,5 el (2 gl (o eSS (@l
13,15 (ol (g3l J§ @ )yud & po o (pudig yy ol
Omegdlsl (0 Owgegsl (T S3sS geg9l (< OweglUsS (I

Fogu o0 (s AigSy dummnl 3adg e UL 31 g el b )3 s adgi Ty 50
Llessu b &8, 09 b (7 SloyS e b (o Oyl alewg 4y (&l
Sl yiizr oS glaod gl 8 wdgi ;o liud 3 eolisw! jlxo v

Qoo Yoo Qo VD (z a0 ) (@ Aoy <0 (&

FaS (50 5765 9hr Bt ) ogaslibnT 31 somnilSo 4z L BHT 9 BHA slagylapunst ol
S5l sla ISty 4 (yig e WL (o
oSy g,0ud b anSs 5l 6, Sel> L (z
TSI T - Y K VOV SRR C= PR

S pidin 3590 IS 30 (WY ST) diwgny O duoyd oyl juo

piE (o cuisS (z s (o Sl & s (L
fogd o0 CedsS 33 udll Glam BT 1355 sles o ole plas

H5R9581 B $eeon S (2 S5t B (o Ol (A

0,15 AUSS (i gy 4 (6 yidiny Sl (4L A (8l p3Y Sloguad (1399 1yl Hhai jl Al plus gbd (g
JETNC P9 (€ SSRGS s> (Al

€3 oo Al yos ¥ sbod ial38l e go Jole plus
oty skl (I
5 Spdels el (o

oy el b aislis oSLaS LS25 (0

=-YA

-Vva

-M

- AY

=AY

- AY

-AD

- AF

-AY

=AA

- A4




3

Voo Jlo 208 3w Jwsl g cunlug oy (b )15 (y90 3T

&

S8 dlan Sl 9 Cablung O

il oo wIlw 31 0wl & po pB5 ausiid (ol I (K9 & 36 MG coreeennnrnnnneseeeseesens Y Ol ol =)
03,5 (2l (3 ol piud (z ol (2l (o 03,5 ¢ yhud (]
Sz g T 5 gl o b dung o )0y 53 oS 9O Clal o9y YU cle QY
o 2B s (ST, (I
053 @ Bl gl S M 0l hles (o
Jyazme PH ;o ;o5 (2
o B p 4 Bl gl S bl (o

fas! gumo b yiSlgiinml 550,80 aiy 35 plas —AY
e (e ST g Gie 0 5SSO (glale oS e 8 sl ST (]
s Sl ST g St 0 )5 (S slale (S e 8 la S (<
A (i jlanaSTy Sute 05 (JSO labes (S e slasSL (2
e St ST g shie 05 (JSA slale (S e slas L (0

] Coogoumn plaS @idle 1 (oudld geld g £yl (Jhow! oy go Gloazmmalo (=08 ol yo JUol - AF
o3l o095 95 shdlinl (Al
o ookl (@
o R ped S (2
Pl pad s (0
fComl gatmo L s Loge )l 3590 50 4 35 plas’ — 0
S (oo @3 popbuce dlg 0 )lsen a5 wies pla et (0
S oo Jroad s (2lpeeml Bosb 5l &S wies oSS (2
S (oo Jie 0y (oiilraiz (Siailex Bk sl &5 aites olajete (0

fewwl o (2108 Slgo 30 39590 (GBS )19 ;0 1 Slazxil 510590 jo 4y 35 plus —A4F

3,05 13 eole slopslE g Sen 1 (5,5 05 slaseil (cal

3,85 2lae osle Slapasl g S 2 680 @ Slol (o

Wy O gy 4 e slassl Cdl> 10 (64105 s wisle oo 005 Slozdl 3l oy &5 oloeslS )1, (2

035 o0 Dygo (G5 w4 punslE)lg See (538 (o 5l 213e oole Slesdl abasi Gl S0l (oS Gles o (o
el pIS §l8 CadigF 50 O wilS gigs ol cadlad sluia Jbyl35 9oy o yigmly =AY

0,5 5hS 2 55 Curiefkg ()

S 5kS » U5 Becquerel/kg (o

pSskS 5 Graykg (g

pSokS » oz Sla> Abs/kg (o

Tl o b g 3 Caxilow (1L Slgn 30 392 g0 Cyafiuw 38 plaS (6135 51,5550 — A
Pb ¢ Cr (z Hg (o Cd (il

A




3

Voo Jlo 208 3w Jwsl g cunlug oy (b )15 (y90 3T

Flaml Cawyo 2108 dlgo o B3¢ J1 0590 jo SGplas —41
Db o (ol pus Hlas 4igT a5l g ole (RA) ol Ve o i B 5138 Slge g5 10 2055, (Al

SrSslr 4 canla o1 (o w5 (G Al Sl Sl YU 590 50 (load 5 (glaty; Sl saw (20555 sdee Jdo (w0
(29,5 sl |

8o v yde s, (nl A )0 0095 (See (QUgTn jleolitul b ctieS o el Mgt 5 IS (00 e 3l (2
S, ols s o s 0 )5 solaidl

SDdbor pin (ol Cugb, b 13 olge jo oy Sow p SBgip 5,105 J1 (o

S yidin —18°C golozmil gl i 5o (188 00lo plas Sloylil yos —Yes
o s ()
035 Er S (o
b (@
frctss

fluimz (Blo 9SS pao 3| Jd 51> aclidn jlo a4y (WS O uao dnogi jl Sua - )+)
podgian oy yundS (6 5SL o (50 o 5 (A
podsis: pordy yndS (658 el B0 G 5l (@
prdgia oy yndS (5,581 Jlb Jsko 00 o 3l (2

pordgia pordy idS (6 L jawly po o0 e 3l (O

o o0 (sl 095 3 (g i (529,50 W T (S S35 PH 30 5 (JT sbrowsylags 5l Syplas’ —3-¥
S Sl (0 Sty a2 Sy dml (0 SV ol (A

e pgara 5 455 (g5 ol sl ale yo SLrJoilE ) ks sl (il

Ml.:(_s.o olud slaailis sl )‘ E«J.o P J2s ol sloasd olow| (o

¢l )“"‘"‘““’ kS)"SL’ ,o‘dS oo JLo.«o‘ Mgfw}iﬁﬂ ww )é -\-f
poy9e h MWigellu (I
rsidgenl )l g my (o
S e (2

FSlges ST (o

fably aLhls 3929 (2108 00k 1 0,5 YO 10 wld (5550 plas (2188 Slgo (19,500 (S s lailiwl Gb —1+0
b e ()
(M) 135 5kem (s sS sldlinl (o
Wt (z
S Lol

\Y




3

Voo Jlo 208 3w Jwsl g cunlug oy (b )15 (y90 3T

g n B AT S o 30 s 6 Bl 50 331 o Ak 5y 31 sudle STy93 By = V+F
ogu> (o &w)‘ (C ﬁ%.ooLf (o @y (L

Cal (6l (e 30 035 1 GE 70 (59 12 olow loasd Slom | Judo Wilgi (oo Saplas V-V
18°C 5l oyl clolos b 10,5 damie (Ll
A o &y JUiSl e )3 demie slagpo (S ol (o
TAD GV a5 G50 s (s Cagb,y o,  (z
Wl )l sl jo G318, pas (o

€00 )5 o0 (9l ] el (o258 pgas I Syplas —10A
O3l il (o oIt @ oSSl (& S ST (all

ddgi 2030 ol caww Blo Wilac jo colpwl sl b g 00 P oy Iy (Sl 3old (59,10 plas” — 144
(g0 eogS
Clenbuterol (.l
Nortesteron (-
Oestradiol (z
Diethylstilbestrol (s

Tl oo mamdsis? & dad QLT (2 poows 51 (LBL Cungouns plas — )¢
PSP (!
NSP (o
DSP (¢
ASP (s

(556 g0 ogmna (PEIGO FACION) 55 53 ;33516 51 5 yiae chmog 125 ,lge 1 SaplaS 1)
S50 03938 (NACH o cocisS Lo a0 45 5 ,90,0 Co yis 009,500 2 31 ial381 (Ll
gl 03le )l iy s S lauzme 4 45 555050 (el G955 addg el (o
98 0310 &l y> (i8S Laszme ay a5 (590 o S (99,50 0SS GBI (2
59 03558 (NACT) s g i S Lama a0 45 590050 (ol j9,i0 odgs ialidl (o

TS o0 Jooxd i ygumwl 33 595wl 50 1 (6 3YL (Glod dudy o Cauand ) ljsslow Jolgs 1 Soplas —NIY
NS L il (Al
B 989,58l b o (o
Sy KeSsS (g
o395 29 P ASLsole (o

Sably oo Lo po Decarboxylase ms 31 iy b 29,50 Jole plas 31 ol 213 Caogommo slxs| = 1Y
Oy ogkesly (A
oSS 5SS 5 el (o
oSedgenl )l 50y (2
B)sey0 S (o

VY




Voo Jlo LI08 dlgo gl g Cblug oy (b )15 (y90 3T

30 210 gm0 o (S Hd plaS w3l Jiw polie 3529 L g 009 £ plus 31 (Minamata) Globow (g low = WF
¢l bLS
o S32lS ()
o507 sras (<
o> (slS (2
S asmas (O

Sl oS (I0E Carogoumo] Cighe slxsl (b ySU Jole plos’ Sgie 590 =110
955 »Sbglaels (I
BeidsS 9,5l by (o
o989l ousSeSskdliul (2
o8y ped ydS (o

FusS o0 ol | o gounno oé5JT Ty Span yl g Y¥eor0 ) 655U plaS awgd ool ddgi pw = VVF
poloisr porc s (!
O R pp S (o

oo skl (2
WS Laz pil (o

TS5 (o0 ol y dinty g0 & 3155 (il 4250 FY 50 35 (b g 8L 51 Syplas — 1Y
S Loty 51 ()
by (o
by (z

FSlskes (o

Sl 3 5 s 31 505 (5 la Sl gz Sgallas 5551 31 4igF plaS sigie 598 Jila> — 1A
il Migalles (il
Pl Migalls (o
Sose Wedlo (2
NRANEIE

Sl 5 s Jolge 3 S plaS 31 bl oo olgo eliko by U sodm! (i b — 11
los S (Ll
LSl (o
wbesd Ol (z
bSs (o

39 o0 Ol | Yaoro 33 b Sl Jole plaS biwgi olié (glog S gelameo (Suas i olud — 1Y+
omelges olely (A1
poSidg ) Bluge 5 poray s (o
oY1 skl (2
ol ;50 pelgSlesdlams (o

¥




Voo Jlo LI08 dlgo gl g Cblug oy (b )15 (y90 3T

o3 Ob)
Part one: Reading Comprehension
Directions: Read the following passages carefully. Each passage is followed by some questions.
Complete the questions with the most suitable words or phrases (a, b, ¢, or d). Base your answers
on the information given in the passage only.

Passage 1

As evidence of our priorities, there can be no greater indictment of our generation than to compare the
resources we advocate to arms with those we spend on helping the poor. Global defense expenditures have
now grown so large that it is difficult to grasp their full dimensions. The world’s military expenditure of only
half a day could finance WHO’s COVID-19 vaccination program. A modern tank costing about $5 million
could provide 2000 classrooms for 50,000 children. A jet fighter for $40 million is the equivalent of 50,000
pharmacies in poor countries. Public expenditure on weapons research approaches billions of dollars a year
and occupies more than a million scientists and engineers throughout the world. This is a greater research
effort than on anything else on Earth, and is more than that on the problems of energy, health, education, and
food combined. Only a small amount of each country’s budget is spent annually on development aid, and
even this amount is declining each year. In addition, the rich countries’ relief aids to the developing nations
have reduced dramatically in recent years.

121_ The author seems to ......... his/her generation for the type of expenditure mentioned.

a) disapprove
b) admire
C) support
d) appreciate

122_ The expenditures on global defense have resulted in ......... .

a) fewer arms sales throughout the world
b) more annual development aids

¢) more employment all over the world
d) fewer public welfare programs

123_ The underlined word that refersto ......... :

a) anything else
b) research effort
c) public expenditure
d) main priority

124_ It is implied that the author of this article ......... .

a) disagrees with any expenditure on military forces
b) favors spending more money on development aid
c) faces generation gap in his/her country

d) supports more arms race between the countries

125_ The author of this article is ......... the priorities in the world.

a) unaware of
b) indifferent to
c) critical of
d) in favor of
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Passage 2

The human body can tolerate only a small range of temperature. Heat reactions usually occur when large
amounts of water and/or salt are lost through excessive sweating following energetic exercise. When the
body becomes overheated and cannot remove this excess heat, heat exhaustion and heat stroke are possible.
Heat exhaustion is generally characterized by clammy skin, fatigue, nausea, dizziness, plentiful sweating, and
sometimes fainting, resulting from an inadequate intake of water and the loss of fluids. First aid treatment for
this condition includes having the victim lie down, raising the feet 8 to 12 inches, applying cool, wet cloths to
the skin, and giving the victim sips of salt water. Heat stroke is much more serious; it is an immediate life-
threatening situation. The characteristics of heat stroke are a high body temperature (which may reach 106° F
or more); a rapid pulse; hot, dry skin; and a blocked sweating mechanism. Victims of this condition may be
unconscious, and first-aid measures should be directed at quickly cooling the body. The victim should be
placed in a tub of cold water or repeatedly sponged with cool water until his or her temperature is sufficiently
lowered. Care should be taken, however, not to over-chill the victim once the temperature is below 102° F.

126 The most immediate concern of a person tending to a victim of heat stroke should be to ......... .

a) getsalt into his/her body
b) raise his/her feet

c) lower his/her pulse

d) lower his/her temperature

127— Which of the following is a sign of heat exhaustion?

a) long-term unconsciousness
b) a lot of sweating

c) hotand dry skin

d) aweak pulse

128_ According to the passage, heat stroke is ......... than heat exhaustion.

a) more hazardous
b) less significant
c) less threatening
d) more prevalent

129_ Symptoms such as nausea and dizziness in a heat exhaustion victim indicate that the person most

likely needs to ......... :
a) be immediately taken to a hospital.
b) be given more salt water.
c) be immersed in a tub of water.
d) sweat more and more.

130~ It is concluded in the passage that we should ......... chilling the victim when the temperature is
below 102° F.
a) stop
b) continue
C) repeat
d) start

\#
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Passage 3

To address remaining and emerging challenges, World Health Organization (WHO) developed the Global
technical strategy for malaria 2016-2030, which was adopted by World Health Assembly (WHA) in May
2015. The strategy sets the most ambitious targets for reductions in malaria cases and deaths since the
malaria eradication era began. It was developed to defeat malaria 2016-2030 for a malaria-free world, to
ensure shared goals. The strategy has three main building blocks. Pillar 1 is to ensure universal access to
malaria prevention, diagnosis and treatment. Pillar 2 is to accelerate efforts towards the elimination of
malaria and attainment of malaria free-status. Pillar 3 is to transform malaria surveillance into a core
intervention. It is estimated that annual investment in malaria control and elimination will need to increase to
6.4 billion US dollars per year by 2020 to meet the first milestone of 40% reduction in malaria incidence and
mortality rates. Annual investment should then further increase to 7.7 billion US dollars by 2025 to meet the
second milestone of a 75% reduction. To achieve 90% reduction goal, annual malaria spending will need to
reach an estimated 8.7 billion US dollars by 2030.

131- WHO and WHA ......... defeating malaria.

a) follow a common goal in

b) have adopted different strategies for
c) move behind 2016-2030 plan in

d) provide the funds necessary for

132_ The text considers a steady increase in ......... for malaria control and elimination.

a) the number of pillars
b) annual investments
c) malaria cases

d) ambitious targets

133— The time interval of 2016-2030 for malaria reduction or eradication seems to be ......... set to

defeat malaria.

a) a fixed evidence-based rate of time

b) determined on the basis of the existing fund
c) determined on the basis of the field work

d) an approximate estimate of the time

134_ The classification of the global technical strategy (for malaria defeat) into three main building

blocksisto......... .

a) speed up efforts to raise the necessary funds

b) spread malaria prevention knowledge universally

c) target the malaria eradication tasks more specifically
d) start the intervention phase right from the beginning

135_ The last sentence ......... in achieving the intended goals.

a) rules out 2030 as the intended time

b) highlights the importance of investment
c) refers to the writer’s lack of hope

d) shows the funds already available
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Passage 4

In a purely rational world, vaccination rates would fluctuate constantly depending on how much people fear
getting sick. That’s what scientists have discovered while trying to find a model for vaccination rates
mathematically. But scientists have recently found the missing puzzle piece that explains why vaccination
rates stay high in the real world or, in some cases, low. The reason, it turns out, is peer pressure.

Public health officials frequently worry about low levels of childhood vaccination, often driven by unfounded
concerns that vaccines are linked with autism. But in many nations without mandatory vaccination rules,
rates of childhood vaccination remain surprisingly high, said Tamer Oraby, a mathematician at the University
of Guelph in Ontario, Canada. The question we wanted to answer is, “why are we seeing such high
vaccination levels in non-mandatory vaccination programs?”

136- According to the passage, the rate of vaccination ......... .

a) has significantly reduced recently

b) is following a steady pattern

c) remains steady no matter what people think
d) is affected by public views on its safety

137— The underlined that (paragraph 1) refersto ......... :

a) change in the rate of vaccination

b) vaccination importance in a purely rational world
¢) mathematical modeling of vaccination rates

d) people’s fear of becoming sick

138_ The term missing puzzle piece in the first paragraph indicates ......... .

a) vaccination models
b) real world

C) peer pressure

d) low vaccination cases

139~ The author implicitly ......... people’s worries on the link between autism and childhood
vaccination.
a) confirms
b) opposes
c) justifies
d) initiates

140- Lack of mandatory vaccination rules ......... vaccination levels.

a) does not necessarily reduce

b) are recommended to increase

C) serves as an incentive to enhance
d) is believed to have an impact on
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Part two: Vocabulary
Directions: Complete the following sentences by choosing the best answer.

141 The manager's suggestion was openly ......... by the team members since it was not likely to have a
good outcome.
a) verified b) appreciated c) consolidated d) rejected
142_ As soon as the patient ......... using the drugs he was prescribed, unusual symptoms started,
making him seek help from a specialist.
a) recovered from b) benefited from c) ceased d) distinguished
143_ One of the side effects of this drug is the ......... of blood vessels so that more blood can reach the
organs.
a) dilatation b) constriction Cc) restriction d) inhibition
144_ He is unable to ......... his emotions when confronting a disagreeable situation; so anybody can
easily see his feelings.
a) release b) suppress C) express d) display
145_ The physiologist managed to ......... everyone’s interest until the end of his speech; all the people
in the conference were attentive.
a) reduce b) confine c) decline d) sustain
146 The patient was ......... the surgical treatment because she was afraid of any surgical procedure.
a) reluctant towards b) enthusiastic about c¢) keenon d) inclined to
147_ Fever is generally considered as the ......... of infection still present in the body.
a) termination b) elimination c) manifestation d) cessation
148_ Most painkillers ......... sedatives used to remove or reduce the patient’s pain.
a) endanger b) suppress C) endure d) encompass
149_ Adolescents are able to think in terms of future rather than just ......... events.
a) current b) upcoming c) forthcoming d) distant
150~ One important nursing procedure is the vital signs assessment which is normally ......... after
physical examination.
a) informed b) performed c) reformed d) notified
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151_ Scientists create a weakened vaccine by ......... the power of an organism that causes the disease.
a) approving b) intensifying Cc) attenuating d) enhancing
152 Timely ......... by a skilled clinician is one of the most important factors in early diagnosis and
treatment of the disease.
a) contamination b) contraction C) intervention d) impairment
153_ The physician used a simple clear language to ......... the problem to the patient.
a) complicate b) elucidate c) attribute d) distribute
154_ The persistence of pain in the patient’s knee means the painkiller was not ......... enough to relieve
his discomfort.
a) sluggish b) soiled c) distorted d) potent

155_ Patients with respiratory problems often experience irregular breathing patterns which .........

their sleep.
a) improve b) rupture c) disrupt d) promote
156 High fever, severe coughs, and sore throat showed that the young boy was ......... influenza.
a) infected with b) avoided from c) relieved from d) empowered by
157_- His doctor warned him that he really needed to go on a diet because he had ......... so much weight
during the holidays.
a) come up with b) put forth c) come across with  d) puton
158_ Getting a lot of sleep and drinking plenty of fluids are recommended to ......... the effects of the
flu.
a) alleviate b) anticipate c) document d) elongate
159_ The recycling company is ......... incinerating hazardous waste illegally causing considerable
pollution.
a) awarded for b) promoted for c) accused of d) indicative of
160- The newly discovered virus proved to be highly ......... since many were infected easily following
their first exposure.
a) preventable b) transmissible c) suppressible d) dismissible
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